DU BEd Special Education Mental Retardation

Topic:- BED_SEMR_T1

1) Sahadyaad is

eSS §
[Question ID = 317]

1. Mughal tradition of giving successions / JRIYBR e Dt HITe UYURT [Option ID = 1268]
2. A position / Tdh Ug [Option ID = 1265]

3. A form of tax / ®XY &1 Tk =T [Option ID = 1266]

4. The decoration of Rang Mahal / TTHgd P! Tolrae [Option ID = 1267]

Correct Answer :-
« Mughal tradition of giving successions / SWIUBR ¢ Pi I GYURT [Option ID = 1268]

2) Prairies are:

I. The temperate grasslands of North America.
I1. A region of flat, gently sloping or hilly land.
III. Treeless near the high lying areas.

ﬂﬁ'[{ﬁ?:

1. IRt 3T P 3w ar &1 A

I1. Had, S g a1 ugrst YiH &1 @ &1
III. &4 3aTe] & UTH gerfed a1

[Question ID = 322]

1. III only / 111 f§W% [Option ID = 1287]

2.Iand II only / I 3R 11 fd [Option ID = 1288]
3. I only / I R1% [Option ID = 1285]

4. 11 only / 11 f&t [Option ID = 1286]

Correct Answer :-
« Tand II only / I 3R II R [Option ID = 1288]

3) Which of the answers would occupy the missing number?

U T3 # | B TT IR R ATM?
50 18 32
72 30 42
29 s 14

[Question ID = 13726]

1. 7 [Option ID = 24901]

2. 15 [Option ID = 24902]
3. 26 [Option ID = 24903]
4. 16 [Option ID = 24904]

Correct Answer :-
« 15 [Option ID = 24902]
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Which of the following states has launched an employment scheme ‘Yuva Swamibhan Yojna’ for urban youth?

frafafea & @ frw =g 3 38 garsit & e oo AR g gar @iy gear g 3982
[Question ID = 259]

1. Kerala / B [Option ID = 1034]
2. Andhra Pradesh / 3fi%f Uc=T [Option ID = 1035]
3. Madhya Pradesh / A% S8y [Option ID = 1033]
4, Bihar / fagr [Option ID = 1036]

Correct Answer :-
« Madhya Pradesh / 9 UG [Option ID = 1033]

5) Which of the following statement for fungi is not true?

$9P & g FAff@d § 4 F9 T FYTIa T8 &
[Question ID = 310]

1. Fungi are multicellular autotrophic organisms / &d%h aﬁﬁﬁ'ﬁﬂ'& &m oftd & [Option ID = 1239]
2. Fungi are saprophytes / %da® JUifhcd g [Option ID = 1238]

3. Fungi are eukaryotic organisms / ®dd gapidlfed Sid @ [Option ID = 1237]

4. Fungi forms symbiotic relationships / d&® geoirdl I&Y §1d1 § [Option ID = 1240]

Correct Answer :-
» Fungi are multicellular autotrophic organisms / dd a‘g’ﬁw G-Iﬁ“ﬁffﬁﬁ Sita 8 [Option ID = 1239]

6) Which of the following states launched the initiative "I am not afraid of English"?

frafafea & @ fea 3w A 7 il &1 33 718 &¢ @1 § uwara &1y fFar?
[Question ID = 269]

1. Haryana / 8@rom [Option ID = 1076]

2. Uttar Pradesh / 3R UeX [Option ID = 1075]
3. Punjab / GG [Option ID = 1074]

4. Bihar / TS8R [Option ID = 1073]

Correct Answer :-
« Haryana / RAT0T [Option ID = 1076]

7) Which of the following are true about Sufi saints-?

I. They discussed spiritual matters.

I1. Devotees of all religion flocked to visit here.

II1. They hold their assemblies in kings’ royal courts.

IV. Often people attributed them with miraculous powers.

@ Tal & TR ¥ Frafafee 7 § 919 3 99 8-

1. 3B AATTES ATHd W) I9f S

11. 9} i & vaa ggi oxfq B & fore oma g1
II1. Q@ IreT13 & TR AR A U U HIa &
IV, 3R & A 3¢ IR Tfdaa) &1 94 )

[Question ID = 320]

1. II, I1I, IV [Option ID = 1278]

2. Only 1v / % 1V [Option ID = 1280]
3.1, III, IV [Option ID = 1279]

4.1, 11, IV [Option ID = 1277]

Correct Answer :-
« I, II, IV [Option ID = 1277]
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8) Which state ensures the maximum production of coffee in India?

DI G TT HRA A B0 BT 3iftrpan Iare- gfafia awar g2
[Question ID = 284]

1. Kerala / B [Option ID = 1136]

2. Maharashtra / HeRT¥ [Option ID = 1133]
3. Tamil Nadu / Hﬁl?lfﬂ'g’ [Option ID = 1135]
4, Karnataka / e [Option ID = 1134]

Correct Answer :-
« Karnataka / @+l [Option ID = 1134]

9) As per NITI Aayog’'s SDG India State Index 2018 which of the following state/union territory is in the achiever
category?

fofa maT & wad faer asy (TH 3 off Sf$ar Re s379 2018) T Wil & AR B HT AU/ b= AR UST AT WIS
wdf @1 Joit § 22

[Question ID = 283]

1. Kerala / @< [Option ID = 1129]

2. Himachal Pradesh / fgHm=a Uexr [Option ID = 1131]

3. Tamil Nadu / Tf@Tg [Option ID = 1130]

4. No state/UT of India / HRd &1 ®Ig Ied/bg UMRIT U el [Option ID = 1132]

Correct Answer :-
« No state/UT of India / HRd &I Blg Aod/dg MU U= gl [Option ID = 1132]

10) A power is equal to

U& Yfed & SRT6% & [Question ID = 311]

1. 1 J/s% [Option ID = 1244]
2. 1 KJ/s [Option ID = 1242]
3. 1 J/s [Option ID = 1241]
4. 1 K3/hr [Option ID = 1243]

Correct Answer :-
« 11/s [Option ID = 1241]

11) 23:8::32:? [Question ID = 295]

1. 6 [Option ID = 1177]
2. 9 [Option ID = 1178]
3. 27 [Option ID = 1180]
4. 17 [Option ID = 1179]

Correct Answer :-
« 17 [Option ID = 1179]

12) EMBARASSED is to HUMILATED as FRIGHTENED is to

EMBARASSED &7 Wl a4/ HUMILATED ¥ g 98! FRIGHTENED &1 &
[Question ID = 302]

1. CORAGEOUS [Option ID = 1207]
2. TERRIFIED [Option ID = 1208]
3. RECKLESS [Option ID = 1206]

4. AGITATED [Option ID = 1205] CO| | eged un Ia

India’s largest Student Review Platform




Correct Answer :-
« TERRIFIED [Option ID = 1208]

13) If triangle ABC is similar to triangle EDF and triangle ABC is not similar to triangle DEF, then which of the
following is not true?

gfe Byt ABC Ay EDF & w0 8 3R frysr ABC rys DEF & a1 7181 8, @ A & | 919 31 9« 781 82 [Question ID
= 331]

1. BC . EF = A C. FD [Option ID = 1321]
2. AB . EF = AC . DE [Option ID = 1322]
3. BC. DE = AB . FD [Option ID = 1324]
4. BC . DE = AB . EF [Option ID = 1323]

Correct Answer :-
« BC.DE = AB. EF [Option ID = 1323]

14) Total numbers of factors of 120 are

120 & UTH! $! A G § [Question ID = 332]

1. 15 [Option ID = 1327]
2. 12 [Option ID = 1328]
3. 14 [Option ID = 1326]
4. 16 [Option ID = 1325]

Correct Answer :-
« 16 [Option ID = 1325]

15) The median of a triangle divides it into two

e Ry & mifereT 3@ fqurfora st 8, € [Question ID = 333]

1. right triangles / G801 fAYSIl # [Option ID = 1331]
2. triangles of equal area / SRTEX & are ﬁ'ljtrﬁ H [Option ID = 1329]
3. congruent triangles / FalgH Y § [Option ID = 1330]

4. isosceles triangles / THfgaTg Ayl # [Option ID = 1332]

Correct Answer :-
» triangles of equal area / SX[&Y &% d ard ﬁﬂﬁﬁ H [Option ID = 1329]

16) Nelong Valley is located in

o urdt fRUd 8 [Question ID = 256]

1. Himachal Pradesh / feHd wex A [Option ID = 1022]

2. Jammu & Kashmir / ST 3R SR & [Option ID = 1021]
3. Uttarakhand / STRTES H [Option ID = 1023]

4. Sikkim / Rafd®H o [Option ID = 1024]

Correct Answer :-
« Uttarakhand / STRIEE H [Option ID = 1023]

17) During the early morning walk, Shubhra met her friend coming from the opposite direction. Shubhra noticed
that the shadow of her friend to her right. Which direction was Shubhra facing?

gae D1 W & IR gt Fodta Rz @ am 3 sroeit weeht @ fireft | g A @ fr Suat waeh & orar Ut ord Sk B
T F1 Je foo faxm #t e ur 2

[Question ID = 290]

1. North-east / 3TR- Jd [Option ID = 1158]

2. North / IR [Option ID = 1157] collegedunia:
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3. South / Gf&UT [Option ID = 1159]
4. South-east / Gf&fU1- gd [Option ID = 1160]

Correct Answer :-
« South / Gf&fur [Option ID = 1159]

18) In a queue, Amrita is 10" from the front while Mukul is 25" from behind and Mamta is just in the middle of
the two, if there are 50 persons in the queue, what position does Mamta occupy from the front?

U HdR §, 3qdr GH1 9 10 & R U § 9afh god 25 9§ 3 0D g3k 79ar b =i & U # €, 3R $ar # 50 A &,
99 HHAT BT R WA F /78?2

[Question ID = 296]

1. 18™ [Option ID = 1182]
p

2. 19t [Option ID = 1183]

3. 20t [Option ID = 1184]

4. 17t [Option ID = 1181]

Correct Answer :-
. 18t [Option ID = 1182]

19) In a cylinder, radius is doubled and height is halved, new curved surface area will be

afe ue Riftier 3 Brear SR &= & wire 3k Fard s 37 & oie, @) g9t T Iy AFwd g
[Question ID = 329]

1. four times / 9 dX [Option ID = 1316]
2. halved / 3f1¢ft [Option ID = 1313]

3. Doubled / @RI [Option ID = 1314]

4. Same / 9HTF [Option ID = 1315]

Correct Answer :-
« Same / ¥§H [Option ID = 1315]

20) A holistic approach for the development of pre-school education upto the senior secondary education is in the
core of-

o qd e & afivy wrafiie Rian & e & e e 9977 TS0 § - [Question ID = 282]

1. Samagra Shiksha Abhiyan / §HY fRI&T 34T [Option ID = 1127]

2. Sarva Shiksha Abhiyan / Td fRré&fT {f¥am [Option ID = 1125]

3. Rashtriya Madhyamik Shiksha Abhiyan / 1819 ATeafee fTaf i [Option ID = 1126]
4. Operation Black Board / 3{f0X¥F &I &I [Option ID = 1128]

Correct Answer :-
« Samagra Shiksha Abhiyan / TH% fi&m 3f¥4m [Option ID = 1127]

21) If Kunal says: 'Tinku’s mother is the only daughter of my mother’. How is Kunal related to Tinku?

gfe Fue wear 8:'fEe &1 uf A8 AT F sward 9 &1 Funa fee I A H&fla 82 [Question ID = 293]

1. Uncle / HTHT [Option ID = 1171]

2. Father / fOar [Option ID = 1170]

3. Brother / HTS [Option ID = 1169]

4. Grandfather / &Tcl [Option ID = 1172]

Correct Answer :-
« Uncle / {HTHT [Option ID = 1171]
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22) The energy derived from the food we eat is stored in our body in the form of

TR ERT ETT 91 aTa Wi A U SHoif ga1R IR § 961 811 &1 7 § [Question ID = 308]

1. Glycogen / EIECASE [Option ID = 1231]
2. Glucose / Y& [Option ID = 1229]

3. Starch / T [Option ID = 1230]

4, Fructose / gﬁ‘?ﬁﬁ{ [Option ID = 1232]

Correct Answer :-
« Glycogen / RIECIANE [Option ID = 1231]

23) If + means X, X means -, - means + and + means +, then which of the following answers is the correct value
of8+4x9-3=+1

g + BT x, x FIATR -, -PIAT T = 3R, s dT 3 +, A FAHRIRRI A A PTATIITTRE +4x9-3 + 1 BTN HA
[Question ID = 298]

1. 41 [Option ID = 1189]
2. 9 [Option ID = 1191]

3. 29 [Option ID = 1190]
4. 30 [Option ID = 1192]

Correct Answer :-
« 30 [Option ID = 1192]

24) Article 14, 15 and 16 form part of a scheme of the Constitutional Rights to

TG 14, 15 3R 16 Hau—e AR #t Rl d J f5g v g o1 e
[Question ID = 262]

1. Equality / THTdT [Option ID = 1045]

2. Abolition of untouchability / S¥JIdT T 3+ [Option ID = 1047]
3. Property / HUfxi [Option ID = 1048]

4. Religious freedom / eTfHes Tgaadm [Option ID = 1046]

Correct Answer :-
» Equality / FHIFdI [Option ID = 1045]

25) Indian semi-high-speed train ‘Vande Bharat Express’ connects

YR df-I= 7fa arelt 39 '9¢ YR Tai9’ Siisdl @ [Question ID = 266]

1. Prayagraj to Varanasi / WIRTS &1 GRTUET ¥ [Option ID = 1062]
2. Haridwar to Prayagraj / 8RgR @ TaFRIS ¥ [Option ID = 1064]
3. Delhi to Varanasi / f&eell @1 aRTOR{ ¥ [Option ID = 1061]

4. Delhi to Ahmedabad / TS &1 3f@HEETE ¥ [Option ID = 1063]

Correct Answer :-
« Delhi to Varanasi / f&ceil &1 aRTURR § [Option ID = 1061]

26) The mission of ‘Unnat Bharat Abhiyan’ is to

'IAd UIRA ATHATA” ST & [Question ID = 257]

1. make higher education compulsory for all children / 94} 5= & fere 3= e siffrard &1 [Option ID = 1026]

2. promote cottage industries and empower rural people / @élq ST @ deldl AT 3R JTHOT AT T e §AE [Option ID =
1027]

3. encourage entrepreneurship among youth in India / HIRd e gqi&ﬁ o I &I deldl ol [Option ID = 1025]

4. leverage higher education institutions to bring transformational change in rural development processes /

T URAdTER! gRady a1 & o 3= fR1&m SRl &1 a4 I8 [Option ID = 1028]

faepra ufsparan
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Correct Answer :-
» leverage higher education institutions to bring transformational change in rural development processes / gt faerg

ufsransit # uRadaeR! ulad @ & fore 3= Riem G &1 @14 ISHT [Option ID = 1028]

27) Who is the writer of the famous song ‘Sare Jahan se Accha Hindustan Hamara?

gfirg e uR w81 A 31 g™ g9RT & aEs 1 82
[Question ID = 264]

1. R. N. Tagore / 3R, TA. SR [Option ID = 1053]

2. Bankim Chandra Chattopadhyay / df® 9% g9 [Option ID = 1054]
3. Muhammad Iqgbal / §6¥q 5 dTd [Option ID = 1055]

4. Kavi Pardeep / &fd Udg [Option ID = 1056]

Correct Answer :-
+ Muhammad Igbal / §6™¥ & g dld [Option ID = 1055]

28) Who amongst the following raised the slogan 'Dilli Chalo’?

frafafea 7 @ fra Rl o &1 7R geie fFar
[Question ID = 274]

1. Bhagat Singh / HTd f&@ [Option ID = 1093]

2. Lala Lajpat Rai / <Teil eifeidd I [Option ID = 1095]

3. Madan Mohan Malaviya / H&-1 HIg= HI@d [Option ID = 1096]
4. Subhash Chandra Bose / §HTS @ &9 [Option ID = 1094]

Correct Answer :-
+ Subhash Chandra Bose / §HT¥ Tg dI9 [Option ID = 1094]

29) Who amongst the following has been appointed as the Air India CMD for the second time?

frafafea 3 3 58 gl IR TR e & Ht wa &t & Fu d fFPges o man @2
[Question ID = 265]

1. Sudhir Bharagav / ﬁiﬂ'\f Yrfg [Option ID = 1060]

2. Ronojoy Dutta / I%i1g &4l [Option ID = 1057]

3. Pradeep Singh Kharola / Wdld g @RI [Option ID = 1058]
4. Ashwani Lohani / 3{% 18T [Option ID = 1059]

Correct Answer :-
» Ashwani Lohani / YT BT [Option ID = 1059]

30) Who amongst the following is the author of the book ‘We Indians’?

frafafea & @ o9 'd fedw’ gwe & a9s 82

[Question ID = 273]

1. Mulk Raj Anand / Hedb W 3¢ [Option ID = 1090]

2. Nirad C Chaudhuri / g &t Fied [Option ID = 1089]

3. Khushwant Singh / @=rdd &g [Option ID = 1091]

4. Harivansh Rai Bachchan / gRd¥1 30 §=a4 [Option ID = 1092]

Correct Answer :-
« Khushwant Singh / @=dd f3ig [Option ID = 1091]
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31) Who holds the record for the highest ODI innings score by an Indian woman cricketer?

o feadii fpdpe ufaaifirar &) v urt A waifis aafdara Tk a9  arelt HRdg afger e o9 82
[Question ID = 260]

1. Harmanpreet Kaur / ETH?EﬂHEﬁ{ [Option ID = 1039]
2. Deepti Sharma / ST T [Option ID = 1038]

3. Mithali Raj / fir=Tefl ¥1<T [Option ID = 1037]

4. Smriti Mandhana / Wf?lffﬂT;lT [Option ID = 1040]

Correct Answer :-
« Deepti Sharma / ifct T@f [Option ID = 1038]

32) Who is known as the ‘the first missile man’ of India?

YRd & "TYH fBrarse 89 & =0 # {58 9= oan 82
[Question ID = 261]

1. Dr. U. R. Rao / SI. g, 3R, 14 [Option ID = 1043]

2. Dr. A. P. J. Abdul Kalam / 3. T Ui, o, Hegd HelH [Option ID = 1042]
3. Dr. Satish Dhawan / SY. Tl 4@+ [Option ID = 1041]

4. Dr. Vikram Sarabhai / €. {dghH GRIHTS [Option ID = 1044]

Correct Answer :-
« Dr. A. P. J. Abdul Kalam / ST. €. 1. . 3{sgdl Sl [Option ID = 1042]

33) Who is known as the ‘Father of Green Revolution’ in India?

YR # g Fifd & 9% & FU § fFA =71 SArdr 82
[Question ID = 271]

1. Prof. P. K. Sen / WIhaR. O, &. ¥ [Option ID = 1082]

2. Nel Jayaraman / I SR [Option ID = 1083]

3. Dr. S. K. De Datta / 81, UH. &. ¢ &% [Option ID = 1081]

4. Dr. M. S. Swaminathan / Sf. TH. TH. a1 [Option ID = 1084]

Correct Answer :-
« Dr. M. S. Swaminathan / Bf. TH. TY. WHHARIA [Option ID = 1084]

34) Who was the first writer to create the identity of India with the image of Bharat Mata?

YR AT 31 Bfd & 1Y YR $1 U89 9711 a1l U A DI o?
[Question ID = 318]

1. Rabindra Nath Tagore / gy MR [Option ID = 1270]

2. Mahatma Gandhi / H&T&T il [Option ID = 1272]

3. Subhash Chandra Bose / Wi‘ﬁﬁﬂ [Option ID = 1271]

4, Bankim Chandra Chattopadhyayya / &féhH =g Ga1e1d [Option ID = 1269]

Correct Answer :-
« Bankim Chandra Chattopadhyayya / §fdH % ggIureard [Option ID = 1269]

35) Who was the Chief Guest at Republic Day Parade, India, 2019?
YRE 2019, TUras feaw ws, # g@r ifafy 19 42

[Question ID = 255]
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1. Crown Prince United Arab Emirates: Mohd. Bin Zayed Al Nahyan / 134 i1 §gdd 3R HR1a: Higwg foq S1ag sra ArgaH
[Option ID = 1017]

2. Prime Minister Laos: Thongloun Sisoulith / W4T i @13 Yimars Riaid [Option ID = 1018]

3. Prime Minister Thailand: Prayuth Chan-ocha / 4TSdi@ & U Ht: TG dM-3f1=M [Option ID = 1020]

4. President South Africa: Cyril Ramaphosa / JT¥Ufd &fé&for 3bieT: kel I [Option ID = 1019]

Correct Answer :-

« President South Africa: Cyril Ramaphosa / JTFUfd Gf&r 3hiehT: fRe IHTEIT [Option ID = 1019]

36) In which of the novel Charles Dickens wrote about the terrible effects of industrialisation on people’s lives and
character

el fE$ A frg Su=ar ® @i & Sftgq iR T e fiezor & yarHe yyEl & IR # forar o
[Question ID = 315]

1. Oliver twist / 3iferaR fgxe [Option ID = 1258]

2. A tale of two cities / 31 ¢d 31t ¢ HICH [Option ID = 1259]
3. The Pickwick Papers / € fi&fd® Tusf [Option ID = 1260]

4, Hard times / ETT&FE'I%'-':H [Option ID = 1257]

Correct Answer :-
« Hard times / §TS TSWT [Option ID = 1257]

37) In frog, metamorphosis is controlled by

Hed # wuiavvr a3 8141 8 [Question ID = 313]

1. Insulin / $9f¢ §RT [Option ID = 1249]

2. Thyroxine / YTSRIfa &RT [Option ID = 1250]
3. Adrenaline / L{:ﬁ-ﬂmlé-ﬂ @I [Option ID = 1251]
4. Estrogen / T&ISH GRT [Option ID = 1252]

Correct Answer :-
« Thyroxine / USRI gRT [Option ID = 1250]

38) The quadrilateral formed by joining the mid-points of the sides of a quadrilateral PQRS, taken in order, is a
rectangle, if

PQRS T &t yurre & gen-figed &1, ver &t oo °, e w a91 agy ta omad giar 8, afe [Question ID = 326]

1. PQRS is a rectangle / PQRS U 3M19d g [Option ID = 1301]

2. PQRS is a parallelogram / PQRS Tdh HHIAR T—-@iﬁ % [Option ID = 1302]

3. diagonals of PQRS are equal. / PQRS & fa@uf sR1eR & [Option ID = 1304]

4. diagonals of PQRS are perpendicular / PQRS & faepul daad & [Option ID = 1303]

Correct Answer :-
» diagonals of PQRS are perpendicular / PQRS & faof daga % [Option ID = 1303]

39) If one of the zeroes of the polynomial y* + ay? + by + c is —1, then the product of the other two zeroes is

gfe 9gUg y3 + ay? + by + cis—1 & Y H T UH &1 a1 37 &I Y\ T IAIG € [Question ID = 325]

1.b-a + 1 [Option ID = 1298]
2.b—-a-1[Option ID = 1297]
3. a—b -1 [Option ID = 1300]

4.a—-b + 1 [Option ID = 1299]

Correct Answer :-
« b—a+ 1[Option ID = 1298]

ardening club meets every second day; the photography club meets every third day; the sporij inaets( e
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fourth day; the pottery club meets every fifth day; and the dramatics club meets every sixth day. How many times
do all the five groups meet on the same day within a year (365 days)?

S Wpa § urg nfafafl e § 9 anrar, siehnel, @age, ufedsik Areasdn anTar 799 g¥ gas 9 faan g;
BIeUTE! aad gY diaR 3 e 8; @ade aoa & 1Y 37 fireran €; uied) o4 e¥ uigd A fiyaan €; ok Areusar oad &
¢ fa firear 81 v o (365 f2) # ver & fea Wit uiw wug ot ar firea 82

[Question ID = 294]

1. 6 times / 6 @R [Option ID = 1173]
2. 8 times / 8 X [Option ID = 1174]
3. 12 times / 12 §R [Option ID = 1176]
4. 10 times / 10 9R [Option ID = 1175]

Correct Answer :-
* 6times/ 6 dX [Option ID = 1173]

41) In a polynomial, the exponents of the variables are always

U 9gUQ H, O) ¥ UIdie gWNT E1d & [Question ID = 328]

1. Positive integers / THRIE® UIfe [Option ID = 1310]

2. Non-positive integers / TR-U&RIA® JUIid [Option ID = 1312]
3. Non-negative integers / TR-A&RI&® UIi& [Option ID = 1311]
4. Integers / Qulleb! [Option ID = 1309]

Correct Answer :-
« Non-negative integers / TR-A®RIAE Ui [Option ID = 1311]

42) The graph of the linear equation 2x + 3y = 6 cuts the y-axis at the point

QP TSI 2x + 3y = 6 BT UTHHY 4G U y- & FH HIedl 8 [Question ID = 334]

1. (2, 0)/ (2, 0)WR [Option ID = 1333]
2. (0, 2) / (0, 2)UR [Option ID = 1336]
3. (3, 0) / (3, 0)TR [Option ID = 1335]
4. (0, 3) / (0, 3)UR [Option ID = 1334]

Correct Answer :-
« (0,2)/(0, 2)4R [Option ID = 1336]

43) GST in India has been implemented from

YRd A GST @] faar 741 @ [Question ID = 279]

1. 1st January, 2018 / 1 SIHaxl, 2018 ¥ [Option ID = 1115]
2. 1st January, 2017 / 1 Si9a3l, 2017 ¥ [Option ID = 1113]
3. 1st April, 2018 / 1 3{Ud, 2018 ¥ [Option ID = 1116]
4. 1st July, 2017 / 1 S[@Ts, 2017 ¥ [Option ID = 1114]

Correct Answer :-
e 1stJuly, 2017/ 1 qaré, 2017 9 [Option ID = 1114]

44) No child could be detained upto which Class, under ‘No Detention Policy’ of Right to Education (RTE) Act?

ﬁrm?arfﬂﬁﬂ(mﬂé)aﬁ%ﬁ'ﬁ%ﬁmuﬁﬁ%ﬁﬁﬂﬁﬁaﬁﬁﬁmmﬂwmqﬁﬁmm
Pl 52

[Question ID = 267]

1. Class IX / @&l IX [Option ID = 1067]
2. Class X / ®&T X [Option ID = 1068]

3. Class VIII / F&fT VIII [Option ID = 1066]
4. Class V/ & V [Option ID = 1065] g

T
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Correct Answer :-
» Class VIII / @&l VIII [Option ID = 1066]

45) An atom has an electronic configuration of 2, 8, 2. To which of the following elements it would be chemically
similar?

TP WU &1 AT DIPIRIHA 2, 8, 2 8 | 7w & | 5y 9@ & gg wmafs wu & gu= ghme
[Question ID = 307]

1. C (6) [Option ID = 1227]
2. Ca (20) [Option ID = 1226]
3. K (19) [Option ID = 1228]
4. Na (11) [Option ID = 1225]

Correct Answer :-
« Ca (20) [Option ID = 1226]

46) An online portal ‘ENSURE’ has been launched by

U® 3HTaTgH Uidd 'ENSURE’ Y%= forar T @
[Question ID = 275]

1. Department of Animal Husbandry, Dairying and Fisheries / U] UTeH, 3T%1 3R Ao UTe= fauTT §RT [Option ID = 1098]
2. Department of Higher Education (MHRD) / 3= fRraf faumr (MHRD) &I{T [Option ID = 1097]

3. Department of Science and Technology / fam 3R WP faHTT gRT [Option ID = 1099]

4. Ministry of AYUSH / 3TJ¥ HATT gRT [Option ID = 1100]

Correct Answer :-
« Department of Animal Husbandry, Dairying and Fisheries / U] 9TeH, 931 3R A UTa fAHTT §RT [Option ID = 1098]

47) Which of the following group represents an example of connective tissue?

fafafaa & F S 91 99g JIel Sad BT ISTexvT Ugd HdT 82 [Question ID = 309]

1. Blood, skeletal muscles, cartilage / 3ad, S@Td P HIFURRN, JUTRRY [Option ID = 1234]

2. Blood, Oesophagus lining, Skeletal muscles / Ta, TEIHIY 3R, HbId & HIGURMAT [Option ID = 1235]
3. Blood, bones, brain / Y&, gf$al, Af&Tss [Option ID = 1236]

4. Blood, bones, cartilage / ¥ad, 8f$4l, IUIRY [Option ID = 1233]

Correct Answer :-
« Blood, bones, cartilage / Y&, gf$dl, IUIRRY [Option ID = 1233]

48) Being made to sit separately in the classroom because of one’s background is a form of

T® URYN & FRU H&m A e IS TP FU 8 [Question ID = 323]

1. Prejudice / Ja9g &1 [Option ID = 1289]

2. Diversity / fafaerar &1 [Option ID = 1290]

3. Discrimination / UGHIG P [Option ID = 1292]
4. Stereotype / &fgdifadl &1 [Option ID = 1291]

Correct Answer :-
« Discrimination / HGHTd &l [Option ID = 1292]

49) MARATHON is to RACE as HIBERNATION is to

MARATHON &T RACE ¥ ! Ha¥ & 981 HIBERNATION T 8 [Question ID = 287]

1. DREAM / DREAM & [Option ID = 1147]
2. WINTER / WINTER ¥ [Option ID = 1145]
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3. SLEEP / SLEEP ¥ [Option ID = 1148]
4. FROG / FROG ¥ [Option ID = 1146]

Correct Answer :-
« SLEEP / SLEEP ¥ [Option ID = 1148]

50) As the sailor jumps out of a moving boat in forward direction, the boat moves backward. It is an example of

oY g1 ifae o B e & T Tad! 719 ¥ Fadr ¢, 79 1 $T 3R AN 31 T8 TP Sae §
[Question ID = 312]

1. Inertia / SIS &1 [Option ID = 1245]
2. Newton'’s third law of motion / /e @ TIfd & JIRT 199 &7 [Option ID = 1248]
3. Newton’s second law of motion / =&+ @ Tfd & GERT fTH &1 [Option ID = 1247]
4. Momentum / 3{1d7 &1 [Option ID = 1246]

Correct Answer :-

« Newton’s third law of motion / =g &1 7Ifd & dI¥RT 990 T [Option ID = 1248]

/\
H H

is formula of

FHAE

[Question ID = 13727]

1. Propane / IT9+ [Option ID = 24905]

2. Propanoic acid / STaTH T35 TfHe [Option ID = 24907]

3. Propanal / P INCE [Option ID = 24908]
4. Propanol / ST9=T<T [Option ID = 24906]

Correct Answer :-

« Propanoic acid / IT9TATE T [Option ID = 24907]

52) SAARC University has its head office in

a1 fayfaeray &1 gy safag @
[Question ID = 276]

1. Dhaka (Bangladesh) / GIhT (Wﬁ-‘«’[} [Option ID = 1101]
2. New Delhi (India) / 718 faeeit (MRd) [Option ID = 1102]

3. Colombo (Sri Lanka) / @Tawa! (SfciehT) [Option ID = 1103]
4, Male (Maldives) / ATt (HTeicid) [Option ID = 1104]

Correct Answer :-
« New Delhi (India) / 73 feeelt (MRd) [Option ID = 1102]

53) Who amongst the following is the author of the book ‘Hindu View of Life”?

fFrafafeaa 4 @ o9 e 'Rg o 3iT® d15%* $1 a8E@® 82 [Question ID = 263]

1. Aurobindo Ghosh / 3Rfs= €I [Option ID = 1049]
2. Dr. S. Radhakrishnan / 1. TH AYTHWHE [Option ID = 1050]
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3. Maulana Abdul Kalam Azad / BIGIE] Sfeg el hellH HTvllq [Option ID = 1051]
4. Mahatama Gandbhi / HETHT TTieht [Option ID = 1052]

Correct Answer :-
« Dr. S. Radhakrishnan / ST. T JYT$HWH [Option ID = 1050]

54) Find the wrong term of the series?

YT B TeTd H&AT JTd PIo1g?
7, 28, 63, 124, 215, 342 [Question ID = 303]

1. 124 [Option ID = 1211]
2. 28 [Option ID = 1210]
3. 7 [Option ID = 1209]
4. 215 [Option ID = 1212]

Correct Answer :-
+ 28 [Option ID = 1210]

55) Find the wrong term of the series
YT DI TeTd TBAT T DI
1, 3,10, 21, 64, 129, 356, 777 [Question ID = 288]

1. 356 [Option ID = 1152]
2. 10 [Option ID = 1149]
3. 129 [Option ID = 1151]
4. 64 [Option ID = 1150]

Correct Answer :-
« 356 [Option ID = 1152]

56) Find the missing term of the series?
YT BT & TBAT [T Hiforg?
6, 11, 20, 37, 70, ?, 264 [Question ID = 285]

1. 135 [Option ID = 1138]
2. 139 [Option ID = 1140]
3. 131 [Option ID = 1137]
4. 137 [Option ID = 1139]

Correct Answer :-
« 135 [Option ID = 1138]

57) Find the missing term of the series?

Yo H & AT B JId DIfog?

2, 3, 6, 15, 2, 123 [Question ID = 300]
1. 57 [Option ID = 1200]

2. 47 [Option ID = 1198]

3. 52 [Option ID = 1199]
4. 42 [Option ID = 1197]

Correct Answer :-

« 42 [Option ID = 1197]

58) 'I am and I will' campaign was launched on
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'H g o & wer AR = fvar war
[Question ID = 258]

1. World Cancer Day, February 4 / fa% %¥R faa¥, 4 Bat &1 [Option ID = 1030]

2. International Women'’s Day, March 8 / SIcRISIT afz=r &y, 8 #T= &I [Option ID = 1031]
3. International Literacy Day, September 8 / 3{cRIFTd W&RaT fdaw, 8 RdaR &1 [Option ID = 1032]
4. National Girl Child Day, January 24 / JI¥1d dTfeieT f&ad, 24 S=a<! &I [Option ID = 1029]

Correct Answer :-
« World Cancer Day, February 4 / fd% &&= f&a¥, 4 Basl &Y [Option ID = 1030]

59) If each observation of the data is increased by 8, then their mean

afe sfihel & TP W&ur A 8 $ gfcx H Tt 8 @) I7HT AT [Question ID = 330]

1. becomes 5 times the original mean / 5@ A& ¥ 5 T[T & SITdT & [Option ID = 1318]
2.isincreased by 8 / 8 ﬁm% [Option ID = 1320]

3. remains the same / T & T&dT & [Option ID = 1317]

4. is decreased by 8 / 8 ¥ gedl g [Option ID = 1319]

Correct Answer :-
e isincreased by 8 /8 QEEEIT% [Option ID = 1320]

60) Plant cells are different from animal cells. It is by the presence of

UTeY HIRABTY STaR] Bt BIHRADBT3MT A 3T gl 8 | I8 fFae! IufRufa | e gkt &
[Question ID = 314]

1. Cell membrane / ®If37eT f3redl [Option ID = 1254]
2. Plastids / WS [Option ID = 1256]

3. Cytoplasm / P11 &4 [Option ID = 1255]

4. Mitochondria / HTgcIaI=dl [Option ID = 1253]

Correct Answer :-
« Plastids / WIReE [Option ID = 1256]

61) A car covers a distance of 1080 km in 18 hours. The speed of a train is double the speed of the car. The speed
of a bike is equal to two- third of the speed of the train. The distance covered by the bike in 5 hours would be

troerR 18 1080 FF i Pl g auardi g Fl iR A MR AR Itrs s s R Ft i s g-fes &
WIER gl 815 °e W 915% §RT 99 B 7S g e1ft [Question ID = 327]

1. 400 km / 400 f&Ht [Option ID = 1307]
2. 500 km / 500 faHt [Option ID = 1308]
3. 360 km / 360 f&HT [Option ID = 1306]
4. 450 km / 450 f&H [Option ID = 1305]

Correct Answer :-
« 400 km / 400 f&H [Option ID = 1307]

62) Chinese tech company Huawei and ZTE were banned in many countries from providing

A % HUT gamas SR i & § &I s o | U oA W ufaay @ faar mar o
[Question ID = 280]

1. Data Cable / $¢T %&d [Option ID = 1120]

2. 5G technology equipment / 5 St TeNfilest ST [Option ID = 1117]
3. High tech toys / 3& G+l & & [Option ID = 1119]

4. Mobile phones / Hi&TSd W [Option ID = 1118]
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Correct Answer :-
* 5@ technology equipment / 5 St Urelfiest Sge T [Option ID = 1117]

63) Which of the following reactions is not an exothermic reaction?

fafafaa & @ 19 I ufafsrar v vamyfife ufaferar 7€) 82 [Question ID = 305]

1. Burning of coal / ®IGdl ST [Option ID = 1217]

2. Electrolysis / Taaeifelfad [Option ID = 1219]
3. Respiration / 44 [Option ID = 1218]
4. Decomposition of vegetable matter into compost / @Tg H g9¥afd Ue &I 3UgeH [Option ID = 1220]

Correct Answer :-

« Electrolysis / TaaeIfeIf &y [Option ID = 1219]

64) Which of the following schemes has been announced in Budget 2018-19?

Proafafea & & o @ g aoie 2018-19 & T Y 7€ 82 [Question ID = 277]

1. GOBAR DHAN / T1sR%- (GOBAR DHAN) [Option ID = 1108]
2. STRIVE / %134 (STRIVE) [Option ID = 1106]

3. MUSK / H%% (MUSK) [Option ID = 1107]

4. SANKALP / T (SANKALP) [Option ID = 1105]

Correct Answer :-
« GOBAR DHAN / ey (GOBAR DHAN) [Option ID = 1108]

65) Which of the following country won the 2018 Dubai Kabbadi Masters Tournament?

frafafaa # | f5a <=1 2018 gas Fa3! AT gAMHC Siar? [Question ID = 270]

1. India / {31 [Option ID = 1079]

2. Pakistan / UTf&d [Option ID = 1077]

3.Iran/ @Tf [Option ID = 1080]

4, Republic of Korea / HINAT TURT [Option ID = 1078]

Correct Answer :-
« India / $fS4T1 [Option ID = 1079]

66) Which of the following state of India tops of the list of ‘Ease of Doing Business’ for the year 2018?

a¥ 2018 & AT UIRA FT B T I 59 ATE 7 fae 9’ ) Gt # Yad HW 82 [Question ID = 278]

1. Karnataka / @+ie® [Option ID = 1109]

2. Andhra Pradesh / KNy [Option ID = 1110]
3. Maharashtra / HERTY [Option ID = 1112]

4. Haryana / gIRQT0T [Option ID = 1111]

Correct Answer :-
« Andhra Pradesh / 3ffY9c=I [Option ID = 1110]

67) Which of the following planets have rings around them?

frafafed # @ f59 981 & IR R 9% 22 [Question ID = 321]

1. Jupiter and Neptune / QEFI[?{ 3R o [Option ID = 1284]
2. Jupiter and Venus / Q%-'Eri?[ 3R [h [Option ID = 1282]

3. Saturn and Mars / 99 3R HTE [Option ID = 1281]

4, Saturn and Mercury / I 3R ¥ [Option ID = 1283]

Correct Answer :-
» Jupiter and Neptune / Wﬁl 3R g3 [Option ID = 1284]
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68) Which of the following is true about Ashoka’s Dhamma?

3TNe F o & I A fAaferf@a & & 19 1 981 82 [Question ID = 319]

1. Performance of sacrifices / Sfere! &1 e [Option ID = 1275]

2. Following rituals / RaTsil &1 9Ta= [Option ID = 1273]

3. Respecting all religions / gut el &1 A S [Option ID = 1274]

4, Giving no gifts to Brahmin and monks / SIT&T0T IR ﬁ-[e,-,j&ﬁ P! BIg IUSR Al ol [Option ID = 1276]

Correct Answer :-
« Respecting all religions / gt «af &1 g S [Option ID = 1274]

69) A child saves money in his piggy bank. The money saved is in coins of Rs. 1, 5 and 10. The total money in his
piggy bank is found to be Rs. 480/-. If the number of coins in each denomination is equal, what is the total number
of coins in his piggy bank?

TS =T 304 eae H I J95a7 81 991¢ T 30 1, 5 3R 10 F Riaw! # 8.39% Tae 3§ o 09 ¥ 480 /2 -1 Al d®
Heatt & ! @1 ST GHM g, a1 37 ead A (Uad| &1 od Ul &1 8?2

[Question ID = 304]

1. 75 [Option ID = 1215]
2. 45 [Option ID = 1213]
3. 90 [Option ID = 1216]
4. 60 [Option ID = 1214]

Correct Answer :-
* 90 [Option ID = 1216]

70) With which nation India signed an agreement '‘Mobilize Your City’ in September, 20187

fra 3= & 1Y UIRT A RidwR, 2018 AAifaarss ik Ry gusitar fFar? [Question ID = 281]

1. Germany / STHHAT [Option ID = 1122]
2. France / 19 [Option ID = 1124]
3. Japan / NI4T [Option ID = 1123]
4. Sweden / ¥dI€ [Option ID = 1121]

Correct Answer :-
« France / W19 [Option ID = 1124]

71) In a code HINDON is written as JFRZYG, how would you write SPECIAL in that Code?

U &S § HINDON &1 JFRZYG & ¥4 ¥ forar Sirar 8, 3y 39 &S # SPECIAL & for@?? [Question ID = 286]

1. TMIXDPR [Option ID = 1143]
2. UMJYNPR [Option ID = 1144]
3. UMIXOTT [Option ID = 1141]
4. TNDDHZK [Option ID = 1142]

Correct Answer :-
o UMIXOTT [Option ID = 1141]

72) In a code BRAND is written as 4203166, how would you write LIGHT in that code?

U% IS § BRAND $I 4203166 fo1@T 9ITaT €, 30 I9 B A LIGHT &4 fer@™? [Question ID = 301]

1. 131011921 [Option ID = 1202]
2. 141091021 [Option ID = 1203]
3. 141191022 [Option ID = 1201]
4. 131110922 [Option ID = 1204]

Correct Answer :-
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« 141191022 [Option ID = 1201]

73) If1x4=10;2x5=14;3x6 = 18; what is thevalueof4x8 =7

gfed 1 x4 =10; 2x5 = 14; 3 X 6 = 18 §;dl 4 X 8 = &I U HT 82 [Question ID = 292]

1. 28 [Option ID = 1166]
2. 32 [Option ID = 1167]
3. 24 [Option ID = 1165]
4. 36 [Option ID = 1168]

Correct Answer :-
« 24 [Option ID = 1165]

74) A pencil costs Rs. 7 each while an eraser costs Rs. 5 each. Raghu spent Rs. 38 to purchase them. How many
pencils did he purchase?

TS Ufa S FHd T 7 8 TafP TH 0 P PHAT T 5 8 | T A I8 Wiled & g & 38 T Y | 394 fra= Ufra @i
[Question ID = 289]

1. 5 [Option ID = 1156]
2. 4 [Option ID = 1155]
3. 2 [Option ID = 1153]
4. 3 [Option ID = 1154]

Correct Answer :-
e 4 [Option ID = 1155]

75) The highest civilian award in India bestowed in recognition of exceptional service/performance of the highest
order in any field of human endeavour is

YR ¥ Fare ANR® REPR Ta T & et off 85 & Swar $ife/ SRmyRor Suafey & UeRi— &1 =adr §
[Question ID = 272]

1. Bharat Ratna / HIRd ¥d [Option ID = 1085]

2. Padma Vibhushan / UsT fa4SUT [Option ID = 1088]
3. Padma Shri / 93 & [Option ID = 1086]

4. Padma Bhushan / UsT {HUT [Option ID = 1087]

Correct Answer :-
« Bharat Ratna / HIRd ¥d [Option ID = 1085]

76) The plateau

I. is rich in mineral deposits

I1. may have small summits and a broad base.

III. may have one or more sides with steep slopes.

IV. is a flat-topped table land standing above the surrounding area.

TSR

I. G WS ¥ 993 B

I1. B¢ RS 3R s 3TUR g 9od ¢

11139 09 & T4 TP 91 U O 3UfUs yai $ gl Idhad g

IV. T Jure-3id aret ugrel AeE & o Smurd & 89 & S gl

[Question ID = 324]

1. II, 111, IV [Option ID = 1296]
2.1, 111, 1V [Option ID = 1295]
3.1, II, IV [Option ID = 1294]
4.1, 11, T11 [Option ID = 1293]
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Correct Answer :-
« I, III, IV [Option ID = 1295]

77) The raito of males and females in a population is 2:3. If 70% males and 40% females are employed, what is
the percentage of total employed population?

waqﬁ'@%ﬁqu’feﬁ?ﬂ%maﬁaﬁ#@nz:aél gfe 70% T3 3R 40% AfFETE ST €, T T FRIRG TTHST BT
o< & 82

[Question ID = 291]

1. 58% [Option ID = 1164]
2. 52% [Option ID = 1162]
3. 55% [Option ID = 1163]
4. 48% [Option ID = 1161]

Correct Answer :-
e 52% [Option ID = 1162]

78) Cost cutting by a company means

HUH! GRT AT § Heldl &1 7dad g [Question ID = 316]

1. Reducing the supply of finished goods / TR AT Bl &ﬂ{ﬁﬁ ¥ DAl [Option ID = 1262]

2. Reducing the cost of finished product / TR IdIE &I AT Bl HH HIAT [Option ID = 1263]

3. Reducing the wages of workers / i@ B Hoig! &I HH HAT [Option ID = 1261]

4. Recruiting more people to reduce the load over a single labourer / U HulgY UX HR &H FH P foru 4f¥res anTl &t el B
[Option ID = 1264]

Correct Answer :-
« Reducing the wages of workers / il Pl Hagil P HH B [Option ID = 1261]

79) 'Digital India’ campaign launched by Government of India aims at

YR WHR gRT IF fbar mar fefirea gfear sifiram &1 3834 8 [Question ID = 268]

1. empowering village youth with computer literacy and skills / FER &R AR D@l & ATy TMd & Jarsfi B Tad a1
[Option ID = 1072]

2. creating a network of telecommunication across all villages / gt et o TR &1 dcad U A1 8 [Option ID = 1071]

3. transforming India into a digital empowered society and a knowledge economy / HRd & fSfored T=ad THS 3R §H
3rferaei # §ea 8 [Option ID = 1069]

4. providing laptops to all students in higher education institutions / 3= e SwEl § 9 @ &1 dUery UeH &A1 8 [Option
ID = 1070]

Correct Answer :-

« transforming India into a digital empowered society and a knowledge economy / HRd P! fEfTed geea 9 SR IH
3fcgawt § §gel & [Option ID = 1069]

80) A certain number of men can do a piece of work in 40 days, but if there were 8 men more, it would be finished
in 10 days earlier. The number of men were

73Ul B v FAifda S 40 AT 7 v B $1 god €, a1 3R 8 e 3R g4, Y 10 R ugd @ ww @ g Swar)
goul &t T@ 4t

[Question ID = 297]

1. 28 [Option ID = 1186]
2. 26 [Option ID = 1187]
3. 24 [Option ID = 1188]
4. 30 [Option ID = 1185]

Correct Answer :-
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« 24 [Option ID = 1188]

Topic:- BED_SEMR_T2

1) Read the passage carefully and answer question

James Madison said, "A people who mean to be their own governors must arm themselves with power that
knowledge gives.” In India, the Official Secrets Act, 1923 was a convenient smokescreen to deny members of the
public access to information. Public functioning has traditionally been shrouded in secrecy. But in a democracy in
which people govern themselves, it is necessary to have more openness. In the maturing of our democracy, right
to information is a major step forward; it enables citizens to participate fully in the decision-making process that
affects their lives so profoundly. It is in this context that the address of the Prime Minister in the Lok Sabha is
significant. He said, "I would only like to see that everyone, particularly our civil servants, should see the Bill in a
positive spirit; not as a draconian law for paralyzing Government, but as an instrument for improving Government-
Citizen interface resulting in a friendly, caring and effective Government functioning for the good of our People.”
He further said, "This is an innovative Bill, where there will be scope to review its functioning as we gain
experience. Therefore, this is a piece of legislation, whose working will be kept under constant reviews.”

The Commission, in its Report, has dealt with the application of the Right to Information in Executive, Legislature
and Judiciary. The judiciary could be a pioneer in implementing the Act in letter and spirit because much of the
work that the Judiciary does is open to public scrutiny, Government of India has sanctioned an e-governance
project in the Judiciary for about * 700 crores which would bring about systematic classification, standardization
and categorization of records. This would help the judiciary to fulfil its mandate under the Act. Similar capacity
building would be required in all other public authorities. The transformation from nontransparency to
transparency and public accountability is the responsibility of all three organs of State.

Right to Information is a major step forward to [Question ID = 337]

1. to gain knowledge of administration [Option ID = 1347]

2. enable citizens to participate fully in the decision-making process [Option ID = 1345]
3. to make the people aware of the Act [Option ID = 1346]

4. to make the people Government friendly [Option ID = 1348]

Correct Answer :-
« enable citizens to participate fully in the decision-making process [Option ID = 1345]

2) Read the passage carefully and answer question

James Madison said, "A people who mean to be their own governors must arm themselves with power that
knowledge gives.” In India, the Official Secrets Act, 1923 was a convenient smokescreen to deny members of the
public access to information. Public functioning has traditionally been shrouded in secrecy. But in a democracy in
which people govern themselves, it is necessary to have more openness. In the maturing of our democracy, right
to information is a major step forward; it enables citizens to participate fully in the decision-making process that
affects their lives so profoundly. It is in this context that the address of the Prime Minister in the Lok Sabha is
significant. He said, "I would only like to see that everyone, particularly our civil servants, should see the Bill in a
positive spirit; not as a draconian law for paralyzing Government, but as an instrument for improving Government-
Citizen interface resulting in a friendly, caring and effective Government functioning for the good of our People.”
He further said, "This is an innovative Bill, where there will be scope to review its functioning as we gain
experience. Therefore, this is a piece of legislation, whose working will be kept under constant reviews.”

The Commission, in its Report, has dealt with the application of the Right to Information in Executive, Legislature
and Judiciary. The judiciary could be a pioneer in implementing the Act in letter and spirit because much of the
work that the Judiciary does is open to public scrutiny, Government of India has sanctioned an e-governance
project in the Judiciary for about * 700 crores which would bring about systematic classification, standardization
and categorization of records. This would help the judiciary to fulfil its mandate under the Act. Similar capacity
building would be required in all other public authorities. The transformation from nontransparency to
transparency and public accountability is the responsibility of all three organs of State.

The Prime Minister considered the Bill [Question ID = 338]

1. to check the harassment of the people [Option ID = 1352]

2. to provide power to the civil servants [Option ID = 1349]

3. a draconian law against the officials [Option ID = 1351]

4. as an instrument for improving Government-citizen interface resulting in a friendly, caring and effective Government [Option ID
= 1350]

Correct Answer :-
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« as an instrument for improving Government-citizen interface resulting in a friendly, caring and effective Government [Option
ID =:1350]

3) Read the passage carefully and answer question

James Madison said, "A people who mean to be their own governors must arm themselves with power that
knowledge gives.” In India, the Official Secrets Act, 1923 was a convenient smokescreen to deny members of the
public access to information. Public functioning has traditionally been shrouded in secrecy. But in a democracy in
which people govern themselves, it is necessary to have more openness. In the maturing of our democracy, right
to information is a major step forward; it enables citizens to participate fully in the decision-making process that
affects their lives so profoundly. It is in this context that the address of the Prime Minister in the Lok Sabha is
significant. He said, "I would only like to see that everyone, particularly our civil servants, should see the Bill in a
positive spirit; not as a draconian law for paralyzing Government, but as an instrument for improving Government-
Citizen interface resulting in a friendly, caring and effective Government functioning for the good of our People.”
He further said, "This is an innovative Bill, where there will be scope to review its functioning as we gain
experience. Therefore, this is a piece of legislation, whose working will be kept under constant reviews.”

The Commission, in its Report, has dealt with the application of the Right to Information in Executive, Legislature
and Judiciary. The judiciary could be a pioneer in implementing the Act in letter and spirit because much of the
work that the Judiciary does is open to public scrutiny, Government of India has sanctioned an e-governance
project in the Judiciary for about * 700 crores which would bring about systematic classification, standardization
and categorization of records. This would help the judiciary to fulfil its mandate under the Act. Similar capacity
building would be required in all other public authorities. The transformation from nontransparency to
transparency and public accountability is the responsibility of all three organs of State.

The Prime Minister considered the Bill innovative and hoped that [Question ID = 340]

1. it would not be considered as a draconian law for paralyzing Government [Option ID = 1359]
2. All the above [Option ID = 1360]

3. the civil servants would see the Bill in a positive spirit. [Option ID = 1358]

4. it could be reviewed based on the experience gained on its functioning [Option ID = 1357]

Correct Answer :-
» All the above [Option ID = 1360]

4) Read the passage carefully and answer question

James Madison said, "A people who mean to be their own governors must arm themselves with power that
knowledge gives.” In India, the Official Secrets Act, 1923 was a convenient smokescreen to deny members of the
public access to information. Public functioning has traditionally been shrouded in secrecy. But in a democracy in
which people govern themselves, it is necessary to have more openness. In the maturing of our democracy, right
to information is a major step forward; it enables citizens to participate fully in the decision-making process that
affects their lives so profoundly. It is in this context that the address of the Prime Minister in the Lok Sabha is
significant. He said, "I would only like to see that everyone, particularly our civil servants, should see the Bill in a
positive spirit; not as a draconian law for paralyzing Government, but as an instrument for improving Government-
Citizen interface resulting in a friendly, caring and effective Government functioning for the good of our People.”
He further said, "This is an innovative Bill, where there will be scope to review its functioning as we gain
experience. Therefore, this is a piece of legislation, whose working will be kept under constant reviews.”

The Commission, in its Report, has dealt with the application of the Right to Information in Executive, Legislature
and Judiciary. The judiciary could be a pioneer in implementing the Act in letter and spirit because much of the
work that the Judiciary does is open to public scrutiny, Government of India has sanctioned an e-governance
project in the Judiciary for about * 700 crores which would bring about systematic classification, standardization
and categorization of records. This would help the judiciary to fulfil its mandate under the Act. Similar capacity
building would be required in all other public authorities. The transformation from nontransparency to
transparency and public accountability is the responsibility of all three organs of State.

The Commission made the Bill effective by [Question ID = 339]

1. extending power to the executive authorities [Option ID = 1353]

2. recognizing Judiciary, a pioneer in implementing the act in letter and spirit [Option ID = 1355]
3. combining the executive and legislative power [Option ID = 1354]

4. educating the people before its implementation [Option ID = 1356]

Correct Answer :-
» recognizing Judiciary, a pioneer in implementing the act in letter and spirit [Option ID = 1355]
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Read the passage carefully and answer question

James Madison said, "A people who mean to be their own governors must arm themselves with power that
knowledge gives.” In India, the Official Secrets Act, 1923 was a convenient smokescreen to deny members of the
public access to information. Public functioning has traditionally been shrouded in secrecy. But in a democracy in
which people govern themselves, it is necessary to have more openness. In the maturing of our democracy, right
to information is a major step forward; it enables citizens to participate fully in the decision-making process that
affects their lives so profoundly. It is in this context that the address of the Prime Minister in the Lok Sabha is
significant. He said, "I would only like to see that everyone, particularly our civil servants, should see the Bill in a
positive spirit; not as a draconian law for paralyzing Government, but as an instrument for improving Government-
Citizen interface resulting in a friendly, caring and effective Government functioning for the good of our People.”
He further said, "This is an innovative Bill, where there will be scope to review its functioning as we gain
experience. Therefore, this is a piece of legislation, whose working will be kept under constant reviews.”

The Commission, in its Report, has dealt with the application of the Right to Information in Executive, Legislature
and Judiciary. The judiciary could be a pioneer in implementing the Act in letter and spirit because much of the
work that the Judiciary does is open to public scrutiny, Government of India has sanctioned an e-governance
project in the Judiciary for about * 700 crores which would bring about systematic classification, standardization
and categorization of records. This would help the judiciary to fulfil its mandate under the Act. Similar capacity
building would be required in all other public authorities. The transformation from nontransparency to
transparency and public accountability is the responsibility of all three organs of State.

A person gets power [Question ID = 336]

1. through openings [Option ID = 1343]

2. by denying public information [Option ID = 1344]

3. from the Official Secrets Act, 1923 [Option ID = 1342]
4. by acquiring knowledge [Option ID = 1341]

Correct Answer :-
« by acquiring knowledge [Option ID = 1341]

Topic:- BED_SEMR_T3

1) Read the passage carefully and answer question

One thousand and five hundred years ago, when craftsmen began cutting rocks and sculpting them into
magnificent statues of gods, little did they realise that in the second millennium the Elephant Caves would not just
be a major tourist attraction but would also be a World Heritage Site. Now the world’s oldest island caves are
getting a new lease of life. The Indian National Trust for Art and Cultural Heritage (INTACH) has teamed up with
the Archaeological Survey of India (ASI) to spruce up the caves and protect them from further decay and
degeneration. Elephanta Caves date back to the sixths century and boast of some of India’s most magnificent rock-
cut sculptures of Lord Shiva. Situated about 11 km from the Gateway of India, these caves are reached by small
boats. Once on the island, visitors have to climb over 1,000 stone steps to get to the caves. The caves were
originally built during the reign of the Rashtraputa kings. They contain huge images of Brahma, Parvati, Natraja
and Shiva. The best and most famous of these is Maheshmurti---- a three headed bust of Shiva which is about six
metres high. The great elephant structure in black stone which gave the island its name was removed in 1864 by
British to take it to England. However, it was later returned to India and now stands at the Victoria Gardens, a park
with a small zoo in the centre of Mumbai. On top of the caves are two huge cannons installed by the British in
order to protect Bombay harbour. In the main cave there are nine carvings which depict the life of Lord Shiva in
different manifestations --- the dancer (Natraja), Shiva killing demon Andhaka, marriage ceremony of Shiva and
Parvati, Shiva’s descent to the Ganges, Shiva as Ardhnarinateshwar, Shiva as Maheshmurti. Shiva lifting Mount
Kailash, Goddess Parvati on Mount Kailash and Shiva as ascetic. Back in the mid-eighties, a team of leading
international archaeologists, conservators and historians visited the site and forwarded a proposal to UNESCO to
grant heritage status to the caves. The proposal was accepted and Elephanta Caves were declared a World
Heritage Site in 1987. The most important part of the effort was to clean the surroundings of the heritage site. For
example, there is an ancient site built adjacent to the gate which houses some of the best frescoes and showcases
the art of carving out statues by cutting rock. The next phase was to clean up the littered surroundings and also to
discourage visitors from carrying eatables and plastic bags inside the caves. This step too was roundly criticised
but gradually people were educated on the historic and religious importance of the caves and the incidents of
littering have considerably reduced. To protect the caves from vandalism security personnel were deployed a year
ago. "This has helped authorities to implement regulations stringently,” says as INTACH volunteer of the
organisation’s Mumbai chapter. Elephanta Caves have for years been threatened by the rapid industrial
development in their vicinity. A toxic chemicals storage terminal has been planned just 400 metres away. Bilge
from oil-exploring activities and plastic dumped in the sea, have seriously threatened marine and bird life of the
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areas.
Security personnel were deployed in order to

[Question ID = 345]

1. discourage visitors from carrying eatables inside [Option ID = 1380]
2. protect caves from vandalism [Option ID = 1377]

3. help authorities to implement regulations [Option ID = 1378]

4. help clean up the surroundings [Option ID = 1379]

Correct Answer :-
« protect caves from vandalism [Option ID = 1377]

2) Read the passage carefully and answer question

One thousand and five hundred years ago, when craftsmen began cutting rocks and sculpting them into
magnificent statues of gods, little did they realise that in the second millennium the Elephant Caves would not just
be a major tourist attraction but would also be a World Heritage Site. Now the world’s oldest island caves are
getting a new lease of life. The Indian National Trust for Art and Cultural Heritage (INTACH) has teamed up with
the Archaeological Survey of India (ASI) to spruce up the caves and protect them from further decay and
degeneration. Elephanta Caves date back to the sixths century and boast of some of India’s most magnificent rock-
cut sculptures of Lord Shiva. Situated about 11 km from the Gateway of India, these caves are reached by small
boats. Once on the island, visitors have to climb over 1,000 stone steps to get to the caves. The caves were
originally built during the reign of the Rashtraputa kings. They contain huge images of Brahma, Parvati, Natraja
and Shiva. The best and most famous of these is Maheshmurti---- a three headed bust of Shiva which is about six
metres high. The great elephant structure in black stone which gave the island its name was removed in 1864 by
British to take it to England. However, it was later returned to India and now stands at the Victoria Gardens, a park
with a small zoo in the centre of Mumbai. On top of the caves are two huge cannons installed by the British in
order to protect Bombay harbour. In the main cave there are nine carvings which depict the life of Lord Shiva in
different manifestations --- the dancer (Natraja), Shiva killing demon Andhaka, marriage ceremony of Shiva and
Parvati, Shiva's descent to the Ganges, Shiva as Ardhnarinateshwar, Shiva as Maheshmurti. Shiva lifting Mount
Kailash, Goddess Parvati on Mount Kailash and Shiva as ascetic. Back in the mid-eighties, a team of leading
international archaeologists, conservators and historians visited the site and forwarded a proposal to UNESCO to
grant heritage status to the caves. The proposal was accepted and Elephanta Caves were declared a World
Heritage Site in 1987. The most important part of the effort was to clean the surroundings of the heritage site. For
example, there is an ancient site built adjacent to the gate which houses some of the best frescoes and showcases
the art of carving out statues by cutting rock. The next phase was to clean up the littered surroundings and also to
discourage visitors from carrying eatables and plastic bags inside the caves. This step too was roundly criticised
but gradually people were educated on the historic and religious importance of the caves and the incidents of
littering have considerably reduced. To protect the caves from vandalism security personnel were deployed a year
ago. "This has helped authorities to implement regulations stringently,” says as INTACH volunteer of the
organisation’s Mumbai chapter. Elephanta Caves have for years been threatened by the rapid industrial
development in their vicinity. A toxic chemicals storage terminal has been planned just 400 metres away. Bilge
from oil-exploring activities and plastic dumped in the sea, have seriously threatened marine and bird life of the
areas.

The six metres high three headed bust of Shiva is known as
[Question ID = 343]

1. Maheshmurti [Option ID = 1371]

2. Ascetic Shiva [Option ID = 1370]

3. Natraja [Option ID = 1369]

4, Ardhnarinateshwar [Option ID = 1372]

Correct Answer :-
» Maheshmurti [Option ID = 1371]

3) Read the passage carefully and answer question

One thousand and five hundred years ago, when craftsmen began cutting rocks and sculpting them into

magnificent statues of gods, little did they realise that in the second millennium the Elephant Caves would not just

be a major tourist attraction but would also be a World Heritage Site. Now the world’s oldest island caves are

getting a new lease of life. The Indian National Trust for Art and Cultural Heritage (INTACH) has teamed up with

the Archaeological Survey of India (ASI) to spruce up the caves and protect them from further dalgy and

degeneration. Elephanta Caves date back to the sixths century and boast of some of India’s m rﬁﬁ*@% d un ia
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cut sculptures of Lord Shiva. Situated about 11 km from the Gateway of India, these caves are reached by small
boats. Once on the island, visitors have to climb over 1,000 stone steps to get to the caves. The caves were
originally built during the reign of the Rashtraputa kings. They contain huge images of Brahma, Parvati, Natraja
and Shiva. The best and most famous of these is Maheshmurti---- a three headed bust of Shiva which is about six
metres high. The great elephant structure in black stone which gave the island its name was removed in 1864 by
British to take it to England. However, it was later returned to India and now stands at the Victoria Gardens, a park
with a small zoo in the centre of Mumbai. On top of the caves are two huge cannons installed by the British in
order to protect Bombay harbour. In the main cave there are nine carvings which depict the life of Lord Shiva in
different manifestations --- the dancer (Natraja), Shiva killing demon Andhaka, marriage ceremony of Shiva and
Parvati, Shiva’s descent to the Ganges, Shiva as Ardhnarinateshwar, Shiva as Maheshmurti. Shiva lifting Mount
Kailash, Goddess Parvati on Mount Kailash and Shiva as ascetic. Back in the mid-eighties, a team of leading
international archaeologists, conservators and historians visited the site and forwarded a proposal to UNESCO to
grant heritage status to the caves. The proposal was accepted and Elephanta Caves were declared a World
Heritage Site in 1987. The most important part of the effort was to clean the surroundings of the heritage site. For
example, there is an ancient site built adjacent to the gate which houses some of the best frescoes and showcases
the art of carving out statues by cutting rock. The next phase was to clean up the littered surroundings and also to
discourage visitors from carrying eatables and plastic bags inside the caves. This step too was roundly criticised
but gradually people were educated on the historic and religious importance of the caves and the incidents of
littering have considerably reduced. To protect the caves from vandalism security personnel were deployed a year
ago. "This has helped authorities to implement regulations stringently,” says as INTACH volunteer of the
organisation’s Mumbai chapter. Elephanta Caves have for years been threatened by the rapid industrial
development in their vicinity. A toxic chemicals storage terminal has been planned just 400 metres away. Bilge
from oil-exploring activities and plastic dumped in the sea, have seriously threatened marine and bird life of the
areas,

Before being declared a World Heritage Site, the caves were
[Question ID = 344]

in a precarious state [Option ID = 1376]

in a filthy state [Option ID = 1373]

in a dilapidated state [Option ID = 1374]
in @ magnificent state [Option ID = 1375]

ool ol

Correct Answer :-
« in a dilapidated state [Option ID = 1374]

4) Read the passage carefully and answer question
One thousand and five hundred years ago, when craftsmen began cutting rocks and sculpting them into
magnificent statues of gods, little did they realise that in the second millennium the Elephant Caves would not just
be a major tourist attraction but would also be a World Heritage Site. Now the world’s oldest island caves are
getting a new lease of life. The Indian National Trust for Art and Cultural Heritage (INTACH) has teamed up with
the Archaeological Survey of India (ASI) to spruce up the caves and protect them from further decay and
degeneration. Elephanta Caves date back to the sixths century and boast of some of India’s most magnificent rock-
cut sculptures of Lord Shiva. Situated about 11 km from the Gateway of India, these caves are reached by small
boats. Once on the island, visitors have to climb over 1,000 stone steps to get to the caves. The caves were
originally built during the reign of the Rashtraputa kings. They contain huge images of Brahma, Parvati, Natraja
and Shiva. The best and most famous of these is Maheshmurti---- a three headed bust of Shiva which is about six
metres high. The great elephant structure in black stone which gave the island its name was removed in 1864 by
British to take it to England. However, it was later returned to India and now stands at the Victoria Gardens, a park
with a small zoo in the centre of Mumbai. On top of the caves are two huge cannons installed by the British in
order to protect Bombay harbour. In the main cave there are nine carvings which depict the life of Lord Shiva in
different manifestations --- the dancer (Natraja), Shiva killing demon Andhaka, marriage ceremony of Shiva and
Parvati, Shiva's descent to the Ganges, Shiva as Ardhnarinateshwar, Shiva as Maheshmurti. Shiva lifting Mount
Kailash, Goddess Parvati on Mount Kailash and Shiva as ascetic. Back in the mid-eighties, a team of leading
international archaeologists, conservators and historians visited the site and forwarded a proposal to UNESCO to
grant heritage status to the caves. The proposal was accepted and Elephanta Caves were declared a World
Heritage Site in 1987. The most important part of the effort was to clean the surroundings of the heritage site. For
example, there is an ancient site built adjacent to the gate which houses some of the best frescoes and showcases
the art of carving out statues by cutting rock. The next phase was to clean up the littered surroundings and also to
discourage visitors from carrying eatables and plastic bags inside the caves. This step too was roundly criticised
but gradually people were educated on the historic and religious importance of the caves and the incidents of
littering have considerably reduced. To protect the caves from vandalism security personnel were deployed a year
ago. “"This has helped authorities to implement regulations stringently,” says as INTACH volun
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organisation’s Mumbai chapter. Elephanta Caves have for years been threatened by the rapid industrial
development in their vicinity. A toxic chemicals storage terminal has been planned just 400 metres away. Bilge
from oil-exploring activities and plastic dumped in the sea, have seriously threatened marine and bird life of the
areas.

The most potent threat the caves suffer from is
[Question ID = 346]

1. the rapid industrial development in their vicinity [Option ID = 1384]
2. the toxic chemical storage terminal [Option ID = 1381]

3. the bilge from oil exploring activities [Option ID = 1382]

4, plastic dumped in the sea [Option ID = 1383]

Correct Answer :-
« the rapid industrial development in their vicinity [Option ID = 1384]

5) Read the passage carefully and answer question

One thousand and five hundred years ago, when craftsmen began cutting rocks and sculpting them into
magnificent statues of gods, little did they realise that in the second millennium the Elephant Caves would not just
be a major tourist attraction but would also be a World Heritage Site. Now the world’s oldest island caves are
getting a new lease of life. The Indian National Trust for Art and Cultural Heritage (INTACH) has teamed up with
the Archaeological Survey of India (ASI) to spruce up the caves and protect them from further decay and
degeneration. Elephanta Caves date back to the sixths century and boast of some of India’s most magnificent rock-
cut sculptures of Lord Shiva. Situated about 11 km from the Gateway of India, these caves are reached by small
boats. Once on the island, visitors have to climb over 1,000 stone steps to get to the caves. The caves were
originally built during the reign of the Rashtraputa kings. They contain huge images of Brahma, Parvati, Natraja
and Shiva. The best and most famous of these is Maheshmurti---- a three headed bust of Shiva which is about six
metres high. The great elephant structure in black stone which gave the island its name was removed in 1864 by
British to take it to England. However, it was later returned to India and now stands at the Victoria Gardens, a park
with a small zoo in the centre of Mumbai. On top of the caves are two huge cannons installed by the British in
order to protect Bombay harbour. In the main cave there are nine carvings which depict the life of Lord Shiva in
different manifestations --- the dancer (Natraja), Shiva killing demon Andhaka, marriage ceremony of Shiva and
Parvati, Shiva’s descent to the Ganges, Shiva as Ardhnarinateshwar, Shiva as Maheshmurti. Shiva lifting Mount
Kailash, Goddess Parvati on Mount Kailash and Shiva as ascetic. Back in the mid-eighties, a team of leading
international archaeologists, conservators and historians visited the site and forwarded a proposal to UNESCO to
grant heritage status to the caves. The proposal was accepted and Elephanta Caves were declared a World
Heritage Site in 1987. The most important part of the effort was to clean the surroundings of the heritage site. For
example, there is an ancient site built adjacent to the gate which houses some of the best frescoes and showcases
the art of carving out statues by cutting rock. The next phase was to clean up the littered surroundings and also to
discourage visitors from carrying eatables and plastic bags inside the caves. This step too was roundly criticised
but gradually people were educated on the historic and religious importance of the caves and the incidents of
littering have considerably reduced. To protect the caves from vandalism security personnel were deployed a year
ago. "This has helped authorities to implement regulations stringently,” says as INTACH volunteer of the
organisation’s Mumbai chapter. Elephanta Caves have for years been threatened by the rapid industrial
development in their vicinity. A toxic chemicals storage terminal has been planned just 400 metres away. Bilge
from oil-exploring activities and plastic dumped in the sea, have seriously threatened marine and bird life of the
areas,

The most distinguishing feature of the Elephanta Caves is
[Question ID = 342]

1. that rocks have been cut and sculpted into magnificent statues of gods [Option ID = 1367]

2. that these are the world’s oldest island caves [Option ID = 1366]

3. that they date back to one thousand and five hundred years ago [Option ID = 1365]

4. that they have some of the most magnificent rock-cut sculptures of Lord Shiva [Option ID = 1368]

Correct Answer :-
« that they have some of the most magnificent rock-cut sculptures of Lord Shiva [Option ID = 1368]

Topic:- BED_SEMR_T4
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1) FruafafEa mre F g A g@ 7o usl @1 defRa I A @ w8 I &) faffa Fifse

IRT ORI T & 9a 3Fd B1d 9 Igd1 3T 81 87 9IS gl W 8 @ § faifow a@, gl avel oiR srer=r go firea
faars 33 ¥1 Afp o1a g 98T ugad €, ) 98 TR 3N} AP ar Te 1T 21 3R 39 T9R P P18 HR-BR g 781 Rwrd
3a1 8 13Y% 3t ave guRT Sftae oft 81 foieht &1 7 o fpasit Suamg & o gt €, afes 18 o Summ gof =8t ot €, waife
gt & 397 ver € fF #1E oft U 39 W Y avg fbe 7Y ot aa1S =17 sitaw & v el fare ara 9, iR gg oft
A A fF Faft Siial 3t TuE w9 A o1 $1 8@ 81 a8 Tred A 6 S0 Srua ward # sier e et g ofta & o #1896
9 AR | gfe S/ THT HRaT 8, df 98 9§49 981 1 8 | TN faR wWryifde ¥ @ ue-gay | A3 78] @Td §, afe ga@1
Haad Ug a1 gl fh g0 ¥R 3 3UP o4 & g5 A dfd X 3 198 AT A, Ig UPa 3 98 W1 Y-HSd g8 Gerid
g8 7a1 81 ¢ fF g1t | dar A& a@, 9t #) JuE w0 A offeq faarm &1 8@ 81 g @ 9 ga omaaE & AR g uroft
fam freft 3% & <A, 919 o &7 SifUe 8, 34 ave | u=a-ura &1 WHTd ot g1 anfge i a8 o of & |1y gai 9
1% 1 BT gF 9 S | g MU g6 o TR | Y9 | geoRrT fearar g, St avg A e M ara-wnfa A siaf st v @
FePRI s 3= oiF & RIT [ 3/@wR 1 91T | ¥R & i & 80 &) S | 971 (WY IT UTY S el 81 Tl |

Fafs A e P sum fraa & 2 2

[Question ID = 350]

1. Gl & 9 [Option ID = 1397]

2. T&fa<1 9 [Option ID = 1399]

3. g4t Sital 9 [Option ID = 1398]

4. Yg! 1 I8! e ¥ [Option ID = 1400]

Correct Answer :-

« el g% ¥ [Option ID = 1397]

2) FafafEa e & g 7 1@ e uyl &1 dfara SRl A @ 9 SR+t ffta s

URT HUR e T & T 3=d ST gl 31T 31 9 dIS1 g WX 8 ¢ud g farfast @, S18T «redl 3R sern g fiyera
fearé 33 €1 A o9 89 981 ugad €, @) 98 TR ) f@THdT 91 9raT 21 3R TH A9 ST P AR-BR g4 T8 fewrs
a1 8 18Y® 0 @R guRT shtae oft 21 et &Y 7 o frae Suwmd & o gt €, afes 1 o Sumn gof =8t it 7€, waife
foigTt & ga= var 8 i &1 Wi Sum I W gt @ e 781 dodt| 991 AT Siiaq & ua el fbare A4 4, 3w a8
A & i Tt el &t a0 3 o1 &1 59 §1 98 9184 A 76 a9 orue Tard | sier giaw fhedt ga off & o 1 5@
7 9R | afg 9 AT HRT 8, A I8 95d 997 U 71 TAR faaR warvifae w0 @ ua-gek | A9 T8l @d 8§, Afed gaet
HAAd 98 8] eIl [ 80 G| &1 3UP o4 & &6 W dftd $R ¢ 1T AT THHAM, 8 UPHid 3R T8 T Y-HSd g8 g3
g 9a1 381 ¢ o g1t | dr didt a@, it ) 0 FU A ofied fSa= &1 89 81 519 a8 9 ga 3m9HE & -1 g uioft
fam foreft 3% & ©fF, 91 a9 &1 Siftred 8, 34t ave | ura-ura &1 Wurd ot g1 anfde f ag o o & |y gavl @
3F o1 BT8P 7 B | T8 ATHHH g¥ o/ Te ¥ HU A Yepr fardar 8, 36 avg ¥ g Y ara-wfa @ ofaf s s @
QPRI fGATHR 3¢ o1 & fo1T [T 3awR 371 I1RT | ORI & S & 8§ &I S | TST 3URTY IT UTY $S e 81 G|

‘faferer fFd o &2
[Question ID = 352]

1. S8l ao «Ral fawrs gt § [Option ID = 1406]

2. ST § Rl 3R AT fG@Ts USd [Option ID = 1407]

3, T 4Rl 3R HTHTR UNI-UT I & [Option ID = 1405]

4. W8T Gxelt 3R 3w i gu fgwars 3d € [Option ID = 1408]

Correct Answer :-

. OTET &Rl 3R SaHH firdt U fearE &d § [Option ID = 1408]

3) Fafafaa mrw & g # 1@ e vyl &1 dnfara SRl A | TEl 3w &1 iftq Fife

URT WR 1A T & I@ 3d ST A 35T M1 71 59 A g8 W 8 T@d § Rifors oo, st evet ik s & firerd

faars 33 §1 Afp o1a g9 987 ugad €, ) 8 TR S Ry ar aen SraT 81 3R 36 T9R P P1S HR-BR g 781 faard

3a1 8 1381® 33t avg guRT ot oft g1 foieht @1 7 wF fasit Suwmd & o gt €, A= #13 ff Iumm gof =&t it 18, waife

figtht & 3 uer 8 5 A5 o Ium 39 R gt ave fve 78 dadt aafS 0t sftaw &) e gelt farare wra 9, ok g8 +ff

A A faF Tt ohial & §aE 0 d o 371 5% 21 98 Tred A o 311 v ward A st gl fFat g ofta & oA #1 8@

T AR | fE ST THT FRaT 8, A 9§ 959 97 A ¢ | TR AR wivifie ©u 9§ Ue-gas 3 39 T8l 9 g, afed gaer

Haad Ug 8] gl fh g0 ¥R 3 3P o1 & g5 A dfd X 3 198 AT THAH, Ig UPfd 3R 98 W1 Y-HSd g8 eerd

g8 9a1 81 ¢ b g1t | dox didt aw, 9t &) Ju= w0 A ofteq fFam &1 89 81 g @ 9 ga omaaE & A g wroft

fom farsdt 3% & o9, WTw a9 &1 iftreTit 8, St aRe | aFe-uTa &1 wWya ot g1 Tt 6 a5 S gl w1y geRi @

3T o BT & 7 B | T§ AT g o e | Wa & geor e 8, St ave & &4 Wt wra- '@ﬁ'@%edunia%
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YePRI fareds 3= oiF & RIT W1 3r@awR 1 91T | R & i & 80 &) S | T871 S(WIY I UTY S el 81 Wb |
3T g4 fearar 8
[Question ID = 348]

1. WgHd 9 A &1 3T [Option ID = 1391]
2. Y9 9§ GCHR BT YA [Option ID = 1390]
3. &1 HIA &1 994 [Option ID = 1392]

4, GTY-|1Y I§- &1 =M [Option ID = 1389]

Correct Answer :-
« YO ¥ GCHR @I Y [Option ID = 1390]

4) fgfafes T & a<y A 1@ e uel &1 3o IR 7 | 98 S @ faffq Fifew

URT HHR e T & a0 3=d ST g1 31T 81 9 dIS1 g WR & ¢wd g farfast &, S1eT wredl 3R sern g firerd
fears 39 €1 Afp via 9 981 ugdd &, 91 98 TWRT M f&dar a1 wirar g1 3R 39 99R &1 &5 3iR-BR gH 8! foars
37 2 1A% 3ot aee TR o M 21 Rich @ = o et STt & w1 gt , Afe B o um gof 7 W v, il
foiet & ga= var 8 i 18 Wi Iuw 39 W gt v e 781 dodt| 991 AT Siigq & ua el favare A4 4, 3iv g8 W
ATa & 5 it et & TuE FU d o $1 8P 81 98 I18q 2 T 39 3= w@ard # siwr i fadft g ofta & oA #1859
9 9R | afg 9 UAT HRaT §, A I8 954 997 U g1 TAR faaR varuifaes 0 @ ua-gek | A9 T8l @d §, afed gaet
HAdd Ug el gidT [P 81 gURl Bl 3P o & §F A afrd HY ¢ 1T8 Gl ATIHH, T UPHfd 3R T8 W Y-HSd g4 gvarad
g8t a1 781 ¢ & g1t | dw it a5, Tt & TuE w0 A e faam &1 59 81 o @ 9 g omaw & i & wioh
fam fredt 3% & IR, 9T a9 &1 siftrerd 8, 3t ave | ura-ura &1 Wura ot g1 anfRe i ag o o & |y gavl @
3 o1 &1 8% 7 B | T8 AHHH g4 O/ Te ¥ HU ¥ Yepr fardar 8, 36 avg ¥ g Y ara-ofa @ offal s s @
YR T 32 o & T [R1 3R 31 T1fRT | gAY & S & g &1 S99 @ ST 3RTY U7 UTY $3 7181 &) e |

[Question ID = 351]

1. 39P1 RRT 98! faar [Option ID = 1401]
2. 3@ AR 31t € [Option ID = 1403]
3. 39@! HHT 8T 8 [Option ID = 1402]

4. 39 §gd ¥ R € [Option ID = 1404]

Correct Answer :-

. ISP WHT &I § [Option ID = 1402]

5) Frufafaa T & <y & y@ e uyl 1 defcud 3wl A F 9t Iw &1 fifeq Fifoe

URT WAR 1A T & 9@ 3id STa A 35T M1 71 59 D9 g8 W 8 Twa § Rifors oo, wgl evedt ik serwr & farerd
faars 33 &1 A 1a g9 987 ugad €, @) g TR S Ry dr aer Srar 81 3% 39 79N $1 P HR-BR g 781 faard
a1 2 181® 33t avg guRT ofitae oft 81 foieht &1 7 9 fpasit Suwmd & o gt €, a1 #5138 +f Iumn gof =&t et 8, waife
foigTt & ga var 8 i o1 Wt Ium 39 W gft W e 781 dodt| g=iS 2T Silaq & ua Well farare #rd 4, v g8 +f
A A fF Faft ofial & TaE 9 d oA 31 5@ 21 98 Tred A fF 311 v ward A 3wt i Rt g ofta & oA #1859
T AR | fg ST V1T FRaT 8, A 9§ 959 97 A ¢ | TR AR Wiy © U 9§ Ue-gar I 29 T8l @I g, A gaer
Hadd Tg 8l giaT 6 g0 g’ 31 39S ol & 89 | dfra &Y 198 gar IuH, T8 UPHfa oY a8 W1 Y-HSd g gerd
gg! a1 78T ¢ & g1t A a9t a&, it &1 90 U § oiiaq foaq &1 89 81 o9 v 9 §a 3w & A g woft
form fonslt 5% & o9, W19 o &1 SRR §, St ave & ara-u &1 Wyd ff g1 91T i 9% omm ofiF & ary gesi |
I o1 BT 8P 9 B | I8 AIHH g4 o Te § g A e faarar 8, 3 ave | o ft ura-anfa @ offaf s+l sv @
QPRI ATy 3= ofF & I [T 3R 1 AT | g¥RY & S & 80 &1 B9 | IST 3(WRTY TT UTY O T8l 81 T |

&V 9gd 991 3R HI T8 B1a B, afe
[Question ID = 349]

1. foit 1 S @7 3R =81 < [Option ID = 1395]
2. Tt &1 i@+ 981 &d  [Option ID = 1394]

3. ot @I g a8 [Option ID = 1393]

4, fr¥it 9 g2t I@A € [Option ID = 1396]

Correct Answer :- .
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. T3 31 o1 &1 SR 781 &d [Option ID = 1395]

Topic:- BED_SEMR_T5

1) FafafEd i & g A 1@ e vl F e I A A 9E I @) [ifRa Fifvg|

TP A difas THTe WaF3aT TR ST GHE, STel 8% AfaT U= [d7 91 791 § | TR 98 5t o 3t waaiaar o

3T AT € BT | FaD! U & TH AT & 3R Jaa! TRHT BT 3T HIaT @ | 39 3T A Wl 37T Uh-ga & ufa
- U1 Wi glaT € | T 3H-uTe o el g @1 7, 7= 3R o4 @ fe1 ugu &1 SIS i g ghar | T 3 $
AT e wrdi Rat &1 g8 Hia fiardt 8 2 9uEar 190 iR & & o, TR iR &1d & o, SreT-3ra ¥+l &) 41
aTell & o, RE™ &) a1d o R8T 3 IawT $37 a1 B € | F9e § U O g1 €, faow off, eFf off ofik e oft |
eRraa are iR oS i 819 § | ifRie 57 wad dta ga=ar &1 oaeR Rae @t e off Rien-srawn F € &Y o g&dt
2 | Rran @ gg it 3rden o1 wrdt @ fp Twre & 3rerma ) yra &1 faRifed FYd " # U BT WIg U HY 3R VR AEd
freat &) Ty Yftr TR H o I 0 @ A e & SawR Ut 9@ |

‘IR g% et o= &t Tada 91 &1 sifamaor 7} s3da1 |7 e | 3ifasaor 78 e A aread 2

[Question ID = 354]

1. 3ff¥wR 8] AT [Option ID = 1413]
2. {THHUT Ag! @Al [Option ID = 1415]
3. 3fdgaHl gl BT [Option ID = 1416]
4. GEI&T T8 BT [Option ID = 1414]

Correct Answer :-
« BT g1 HI [Option ID = 1414]

2) frafiafEe i & g § 1@ 7T ul & IR SR A @ 98 SW 3 R Fifm)

U AP dii® THIS Wdad] STRTal BT THE, el 63 Tad U= W T1 3@dT ¢ | 7R J¢ [t 3g F} Tadrar §
SITrsHHoT A8 BT | HID) AU ) FHAM AT & 3R TIDT TR BT 318 AT § | 39 3MeY A 9 71 gp-ge & Ul
YH-HTa e BT ® | T BH-Ta i feelt gt @) 7, g9 ok o | fie1 tam &1 S W 78 ghar | w1 3T $
gAY Rrem wr=dg Ral &1 a5 Wia Rr@rdt 8 2 99T gy 3R T & 6, TR 3R $1a & i, SeT-3renT 9l &) e
g1l & d9t, @ &1 919 997 e 1 a1 FI1 910 B & | I § "od Y g9 €, fauw off, e off v e oft |
eRraa ara 3k fUss oft 81 € | sefifere 391 was o =T &1 geR g &1 srder o Rren-srawm 3 € &) &1 godl
2 | Rram @ gg oft ertden &Y wirdt & 6 gue & arerma #t Hia=1 Y foRifed e 99 § Srueied &1 Ui g1 B SR O Ay
frzal @t T yftr R &R o IuE F 0 @ 9= et & saR T Ed |

‘HFGI’ U &
[Question ID = 356]

1. TH [Option ID = 1423]
2. d&Hd [Option ID = 1424]
3. GRS [Option ID = 1421]
4. 3T7Td [Option ID = 1422]

Correct Answer :-
o cHH [Option ID = 1423]

3) Fafafad e & g & @ e gyl & defcua o A ¥ 8 SW &) faftq Fifen)

TS Abdie THT Wl il ST 9qg, 98l g2 sfad -l Tada W41 3Edl ¢ | IR a8 et oy &5t waesran o
3ifarsp AT € HYaT | WD) U & THHE AT & 3R Jaa! TRHT BT 3T BT @ | 39 3T A Wl #71 Uh-ga & ufa
- UTa IfAe g 8 | T BH-ura e 5l g @ 99, 999 3R o | disT ugem &1 $I5 VI 781 g7 | T 1 3 Bt
g} Rrem ardia Rzt &1 a8 yra Rareh @ 2 Tarar gow ok Wi & =, R ok #1a & &, srev-sra ol & A
arell & ", R 91 97d ST e $1 gaw1 $37 9 F4A ¢ | FH § oA 0 8 §, Ao o, e off ofiw fyed oft |
eRraa ara ok e oft 81 & | S¥iifere o= wao e Ta=ar &1 g Rra™ ot sdem off Rrgn-soawr 3 € &) o "godt
2 | Rren @ g ff 3rden 1 STt @ 6 THIS # Sreg Y Hra &1 fRRIfRd Y "a H U BT U U1 $Y 3R O A

freal &1 e Yy TR & 9 H I9F ©U ¥ A e & aR U IS |
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DT & ‘RfRT o o1 vE ?
[Question ID = 357]

1. YU AT [Option ID = 1428]

2. RIRTE BT [Option ID = 1427]
3, @ HAT [Option ID = 1426]

4. T&T &1 [Option ID = 1425]

Correct Answer :-
o [T AT [Option ID = 1426]

4) frafafad meiw & g<H # @ T il F Iefara SR # |/ 9 IR 3 ffRa Fifeng)

TS Abdie THT Wl il ST 9qg, 98l g2 sfad -l Tada W41 3Edl ¢ | IR a8 et oy &5t waesran o
3ifarsp AT € HYaT | WD) U & THHE AT & 3R Jaa! TRHT BT 3T BT @ | 39 3T A Wl #71 Uh-ga & ufa
- UTa IfAe g 8 | T BH-ura e 5l g @ 99, 999 3R o | disT ugem &1 $I5 VI 781 g7 | T 1 3 Bt
g} Rrem ardia Rzt &1 a8 yra Rareh @ 2 Tarar gow ok Wi & =, R ok #1a & &, srev-sra ol & A
aTell & o, RrE &) 91d o) R8T 3 IawT $37 91 B € | F9e § U ot 2 €, fauw oft, et oft ofiv el oft |
eRraa ara ok e oft 81 & | S¥iifere o= wao e Ta=ar &1 g Rra™ ot sdem off Rrgn-soawr 3 € &) o "godt
2 | Rren @ g ff 3rden 1 STt @ 6 THIS # Sreg Y Hra &1 fRRIfRd Y "a H U BT U U1 $Y 3R O A
freal &1 e Yy TR & 9 H I9F ©U ¥ A e & aR U IS |

ITIE F AMYR W HT o Hhal & 5 WRedra wort &
[Question ID = 355]

1. fafaerar & [Option ID = 1420]

2. 9T 8 [Option ID = 1419]

3. 9IRS dT € [Option ID = 1418]
4. UH¥YdT g [Option ID = 1417]

Correct Answer :-
« UM g [Option ID = 1419]

5) frafafEa e & g & 1@ T ul & e SR A @ 98 SW 3 [ Fifm)

U AP dii® THIS Wdad] STl T THE, el 8% fad U= W §1 3@dl ¢ | AR 9¢ [t 3 #) Tadaar §
TershHYT A& AT | IS U & THH HIHET § 3R P! TRUT ST 3SR HT ¢ | 59 31X # 9l &1 vp-gwr & ufa
- HTa Tnfire ghar @ | T 9H-uTe s el gav &1 14, a9+ i & | Wis1 uguma &1 $IS T 81 gha | T 3 B
AR Rrem wrdg el &1 g5 Wia Rr@rdt 8 2 99T (o 3R T & d, TR 3R F1a & 6, SreT-3ren 9l &) A
ardl & dtg, RrEm 3 a1 ) R $ IawT $33 91 Ha § | T9e 7 dud 0 9§, e oft, ot oft ofi e oft |
eRrgd arat 3k e ot g1 § | e 391 wad §tw |a=ar &1 JgeR e Y g ot Rign-soawr ¥ € $1 o1 godt
2 | Ruam @ gg oft erden &Y wirdt & 6 Tue & ererma #t Wia=1 Y foRifed e 99 § S BT |G 951 B SR U A
frea @Y Ty Yft R Y Forad 0 U A et & SawR Ut 9@ |

T MU TadadT & WIY-91Y
[Question ID = 358]

1. 30! TRHAT &1 4T &I [@=1 91T [Option ID = 1432]

2. gyt &1 A4 Rl &1 9ad 4@ 91fgu [Option ID = 1430]
3. QORI I WAl BT T HA1 916U [Option ID = 1431]

4, TN D1 & B FIRIT HIA AfgT  [Option ID = 1429]

Correct Answer :-
o ORI B WA BT G BT 98T [Option ID = 1431]
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